Best model for HELP J161020.156+542534.696 at z = 1.301 y2=1.57
OPTx?=1.69 IRy?=1.66 threshold (OPT IR)=18.41 [um]

2 : Stellar attenuated
10 3 o T et Stellar unattenuated
] . m —— Dust emission
1 . —— AGN emission
101 3 M] = Model spectrum
E : ® Model fluxes
] : [ Observed fluxes
— 10°4
= 1
E‘ ]
— 1071 3 (vr_(,.f"“"’“‘*-,.m\
X 3 o =
=] ::w\i’r'-_rw-«'
L -2
1077 5
1073 3
307 5
= 1 ]
© ] =4= (Obs-Mod)/Obs
3 1 =
S
n
] o e - el e T e e e e ] e e b e i ——— i ——————
bt ]
) ]
2 ]
T -1 H cGate
]
[a'd

10° 10! 102 103 104 10°
Observed wavelength [um]



